
®

Dock Accessories

SHOREMASTER.COM

3 Step Ladder Parts List
DESCRIPTIONPART NUMBERQTYITEM

Ladder Pivot Bracket100093221
Ladder Frame Left100561512
Ladder Frame Right100561613
Ladder Step100578534
Ladder Pivot Angle100279625
Bolt Bag (4 Step = 1004453, 5 Step = 1000522)10044521-

Nut 1/4 (4 step = qty 16, 5 step = qty 20)1001797126
Bolt Carriage 1/4 x 3/4 (4 step = qty 16, 5 step = qty 20)1001950127
Pin Snap 3/8 x 1.75100033828
Bolt Slotted Round 3/8 x 2.0100259329
Washer Flat 3/81002599410
Plastic Spacer1002469211
Nut Nyloc 3/8-16 Brass1001806212

Pivoting Dock Ladder
Instructions
Part #: 1006669   Pivoting Dock Ladder - 3 Step
Part #: 1006670   Pivoting Dock Ladder - 4 Step
Part #: 1006671   Pivoting Dock Ladder - 5 Step

Failure to follow instructions may result in 
personal injury and may invalidate the 
applicable warranty.
 
Step 1. Attach each Ladder Pivot Angle to one 
Ladder Pivot Bracket and one Accessory 
Connector (Sold Separately). Secure to each with 
two 3/8 x 1.0 Carriage Bolts and two 3/8 Flange 
Nuts (included with Accessory Connector Kit) - as 
shown.
 
Step 2. Attach each Ladder Step to the Ladder 
Frame Left and the Ladder Frame Right. Secure 
to Ladder Frame with two 1/4 Carriage Bolts and 
two 1/4 Hex Nuts - as shown.
 
Step 3. Attach the Ladder Frame Right and 
Ladder Frame Left each to one Ladder Pivot 
Bracket. Secure with one 3/8 x 2.0 Round Slotted 
Bolt, two Poly Spacers, two 3/8 Flat Washers, and
one 3/8 Nyloc Nut - as shown.
 
Note: While the ladder is in use, secure it down 
with two Snap Pins - as shown.

1

6

4

7

10

8

Accessory Bracket 
(Sold Separately)
1006706 - RS4
1006708 - RS7
1006730 - TS9
1006674 - Poly Dock

5

11

2

9

10
12

3


